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Topic:- General Hindi

1) AR M@ S a=ieRT 3
1. U pIg

2. g B

3. Diddl

4, 7] hIxY

Correct Answer :-

2) “faem uRue” &Y e & w1 Bgd 82
1. LEGAL ASSEMBLY

2. STATE ASSEMBLY

3. LEGISLATIVE ASSEMBLE

4. LEGISLATIVE COUNCIL

Correct Answer :-

« LEGISLATIVE COUNCIL

3) fier s1fadu s @:
1. gR=aT

2. e

3. 9318
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Correct Answer :-

4) 3So9° P Wl Jicil A FT Hgd &

1. STCH, AT HR o T

2. YTHT ARDHR A1, URaT Gh o T |

3. FCHT ARDBR e, Ui g1

4. T R T, URaT S o AT

Correct Answer :-

« CHI ARG eI, Ul b o T

GET IT ON
Google Play

5) ‘qU IV P W FaE A TR 81, 98 Ol R R w13 21 sH A A A 13| &

fere gt geTat 1 wargl
1. Tt o1 o],
2. TS BT HYR
3. figt &1 gdan
4. DTS BT I,

Correct Answer :-

7) 379 QA S T ST, HETHTH &2
1. AGTHRA
2. TRMERT
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3. QM
4. FYSTET

Correct Answer :-

o HEIHRd

8) frufafed fy o o1 wRa ar@ ghmn -
i PTG T¢T @I |

1. HTH HIb G|

2. HTH DA aell WRATT|

3. UM ITdl JRA|

4. G B HTH B arell|

Correct Answer :-

« DU el WRAT|

9) Fafafaa wva are &1 iy area ghm:
gt faendf wea g g1

1. e} faemdf awa g € 8

2. Ted! faemelf 81d § SR 91 81 9wa gl &
3. TTEE SR g e faendf o B €1

4. S wrgE faendf 1d &, 91 81 9%d Bld & |

Correct Answer :-

. o Ored faemrif g1 &, 31 § 9wd gId B
10) P ufRE S ATIT B2

R 9 3FTd Fgi & U |
S 33 wieT #) vt gfy STeTer ¥ e i

1. Qa3
2. IR
3. Yfdd <9
4. AR ™

Correct Answer :-
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11) ufiedt ga St AT P H T

1. Hf&arel, AT
2. HASH, gaalt
3. 3fqdft, Feiett

4, AATST, ARATS!

Correct Answer :-

. AT, o

12) fqarg ok s &1 o fora:

1. 4 &1 SR 3R da et a1 urg $i el
2. R w1 o1 SR TS a1 Urg Y et
3. Rrem 1 7= iR da et ar urg &t dieft
4. TId w1 B 3R Ap Sl a1 o1 o <fieht

Correct Answer :-

. Ry o1 3R A el a1 urg o1 <t
13) U 3R gfeem &1 31 3:

1. 3 3R T8

2. TR 3R ST

3. 99 3R Fal

4, WY 3R %

Correct Answer :-

. WY 3R T

14) I BT ATH FaT3it:

GR A8 BT 36 T gEret

IR I W aif¥rer o 1o &1 AR, IR
3R 39 W 3iftrep &7 ula &t SieiRy, I
1. PRI
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2. AYHE
3. Higd 3T
4.5 Y

Correct Answer :-

15) ﬁﬁqgr;@ YT HTYOT Y S Aifgd Tl afga Haa & usga o3 ot fopar &1
|

1. Hfarfteo ar g
2. GiEdIhRor a1 geioy
3. H&UU I FHKABRUT
4. geeTa a1 HaTor

Correct Answer :-

. Iférefieor ar gagur

16) < o A foare g & A feaer mfee o 82
1. ey

2. ApIad

3. Uca
4. GETR

Correct Answer :-

17) 3ABR BT ATH TdT¢:

&1 qafe =1 dAfcran, o9 fé&r arft Ak
3T P I BT U4, Biet divgl 9l |
1. TR SedR

2. 3T SABR

3. ¥dg SfAdR

4, YifaqH PR

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

18) 3fABR BT ATH TdTY:

) 9 &1 3 3T Bl g 8 of frag =4 |
faaa} weTad § 59 o a81 SI1g wgt U ¢ WA |
1. AT SABR

2. IUHAT AADPR

3. Iohifad ABR

4, TUH ADPR

Correct Answer :-

. THIfa AABR

19) 31 UfRal § S 91 HTod YOI :
~feaTte: 1 971 9 UGS Yo HRa |
T YHT HY &Il ¥qadl ghrRadi 1"
1. TS T[0T

2. T 7O
3. 3fIS U1

4. 4R

Correct Answer :-

20) 31 UfeRTa) & I A1 HTed U R:
e ffeT g YA g |

Ped A AT gGI I 11

1. 991G 70T

2. T 10T
3. 3fIS U1

4. Hfad 39

Correct Answer :-
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21) FUP HT YGAQTA g FT 52
1. qRMH

2.9

3. Hlq

4. fogqw

Correct Answer :-

22) ‘dor HT AL :
1. faee®, fHar, saren

2. fadiop, STUYNUT, RS
3. fadie, Smymur, g1
4. fod®, fewT, aarem
Correct Answer :-

23) Ugadh H S 1IN 32
1. TGTY TAN

2. Igsiite AN

3. HHYRY AN

4. fg oo

Correct Answer :-

24) <€ BT YATgaTdl Teg FITR?
1. 3FSH
2. 9

3. [T
4. 7

Correct Answer :-
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25) ‘FHWR-A e Aoft F gE-Fu E:
1. fRd® - fdes gm

2. e - A% g

3. qafgardt g™

4. fRit g

Correct Answer :-

. f[RIdt gy

26) <y U A 1 I &:
1. i

2. Jcitues

3. Ui

4, gfquy

Correct Answer :-

I

27) FraET &1 IR faus gem:
1. T AT AT SrTe] IO

2. 9 <=1 arer srufq Ra-gx
IGEEFICINIERIGER]

4. <9 =1 aran ruiq g

Correct Answer :-

S EREIE NI RIGAEE]

28) S} TRWIA &, I IR 1" BT ATYRT qTa §ITI:
1. TR a7 S g1 |

2. TR 9Td SR9d & |

3. RO dTel S¥Rd gl |

4, TToRA a1 §9d T8 |
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Correct Answer :-

. TROM aTd S T8l

29) “UsIaa’ HTog i e Joft F erar 32
1. JHdD BT

2. G B

3. Bl

4, UETHTH

Correct Answer :-

30) “WANTRITAT HT AR 398 EH:
1. TN & g rd=mman

2. TN o forg =ra

3. TRINT & fore ura=iren

4. TN & foTQ eqef=mran

Correct Answer :-

. TANT & fore 2ra

31) TUW U W §1 TS @
1. 33rd

2. 3fsga

3. 3R

4. 3

Correct Answer :-

32) AT 9 A1 N Bler HT L FUE:
1. <5IT9 = 3119 {1 g1
2. AT/ = 3714 3H ger

3, I 7 3119 3 HR_7
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4, <919 9 3{Td N <@r

Correct Answer :-

R EEEICE Uk

33) AT ¥ A WS FA & A Har &) iy 919w o 9gar:
1. Al = 791 ¥ Fgl fob a8 AT R A

2. O - Sl o a8 et AR

3. 31 A AT 4 g fob 98 M PR A

4. 391 4 Fgl f& ag I a|

Correct Answer :-

« T3 Y &l b a8 W R
34) ¥ BT E:

1. 3TN Y BIS T

2. B, EH

3. i, foRT

4, AT AR

Correct Answer :-

35) ‘dRad B gTa BT AL FY 8:
1. ‘dRed DI fagdy
2. ‘SRed B {F=gr
3. IRed 3! RIS
4, *3HR D RgTSP

Correct Answer :-

. IRId P feasy

36) ‘UHdT d & T YT &
1. T R TP IR

2. Uh 3R TH &l
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3. T 3R T TUR®

4. 0% 3R T §RE

Correct Answer :-

. U% 3R TP URE

37) UH UY G HTol’ HeTax BT Y 3:
1. Teb 1H ¥ fagr ey

2. U BT R Y ORI H1d Ht 81 S
3. U 1 ¥ U g1

4. T 7 H Ryt Ta g1 b1 g

Correct Answer :-

« U B B I GO B Ht 81 ST

38) SMI-UgaT’ gHE Uit & Xeg - T B :
1. R - e gm

2. e - A% g

3. qafgardt g™

4. fRit gm

Correct Answer :-

39) Hfuaraw ) fEd o w1 Hgd 82
1. DIRECTRATE

2. PARLIYAMENT

3. SECRETARIAT

4. SECREAT

Correct Answer :-
« SECRETARIAT
40) 3T B! WSl dieit § T Pgd 7:

1. 3xdd, TiTfereh CI’>ICIC, TS
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2. IAT, FIfeTas, 3T
3. 34, Ao S, Ao
4. 34, AT BT, TS

Correct Answer :-

41) 39 TY H! A | TS 3R 9 fRT ey F13wR &:

el g Udd 9Sdl &, @81 a9l g Ut
YTYT & AR} # 79 3,749 &1 TS} ar=it
3T &M g1 31 ART |
SoOId AT 7T FIRI |

$q SN A GO HY R SHRRRT
ST 8 df 7RAT WE, [ 33 TE ART
|RT ¢ §HRT |

Y — AT G A B BT 1 areqd 32

1. TTT IR ¥ Hfa BT ATt -Gl fIRMl & 8 it oot fad &I 4y gU e
2. T QR A HJ BT areqdd Afea-gof Ui A g o 3ot =ifed &1 YA gu B |
3. T QROT ¥ Hfd BT Iy AfFq-gs YR I 8 S o=t Wfad &1 Ydl gU |
4. T G i &1 areqd i I g |

Correct Answer :-

. TR I BT BT A ARGt YRG! F 7 S SO iferd Bl 4 gU R

42) 39 UL P! A A U 3R 1 2T ¢ u= F1IwR &

®31 gro Udd aSdl ¢, Pe] dST ¢ Ul
HIST & ARI & T 8,7 &t Hidt ot
ST & &Y 51 RI A
goord 3T T8 SR |

$9 AN A1 GIO H R SORRT
ST 8t FRAT W, S 3 TE ART
HRT ¢ AR |

Ty - HfY oI & R w1 e H ve @2
1. B3 oA & T TR oH B B W B
2. HTA o & T 90 75 B T Wia- &1 Hg @1 5
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3. Hd S & [T AT HRA D Hal UG- bl Hg el 6l
4. i S & AT ST ST HA 31 Hall I & FE W8

Correct Answer :-

. B & T 3t sferg B B ol TG+ ol HE W/ B

43) 39 UL P 49 A Ue 3R 1 feu e ymq F1 IwR &

H81 g% Udd 9sdl §, FYI aST § U
HIWT & ARI & T 8, 79 B HST 7t
3IRT & &1 8 AR A
SoOld AT 7T FIIRI |

$9 AN AR GO H R SFORRT
SHT 8 @ WRAT ARG, IS 86 98 ART
TRT = §IRT |

UY- 59 HiadT § fb IAETSi TR UHT ST 74T 82

1. ém?uﬁu%ﬁma%waﬁw HTYT He-HTg, JeiHid o THTerd THEITSH UR UhT STl
T g

2. %’maﬁqﬁ?ﬂaxﬁm,qﬁﬁw, YRR Ye-HTd, ISTTd T Traferd Ul UR UesTT STa T
|

3, %mﬁuﬁm%ﬂm,uﬁaﬁw, U} He-HTd, ISHiTd o TTed JHSme]i OR Ut STaT a1
|

4, g%maﬁué?ﬂtwﬁm,uﬁaﬂw, HTYRI He-HTd, JSTTa & Treferd Ul UR UehTT ST T
|

Correct Answer :-

. gﬂﬁqﬁﬂw,qﬁﬁw, HTRI Ye-HT, ISTNTd T Taferd THErSl UR UenT<l STa 7T
|

44) T U H) A A U 3R 2 fRw 10 gz &1 I« @

el g udd wsar 3, FE asT S U
YT & AR} # 79 3, 79 &t fidY arh
3(RT & I § 7RI H
Foud 3T TS JTSRT A

$q SN A1 GOl HF FRIT SHRRRT
AT 8 af 7RAT W, IS 3 Fg ART
ART ¢ §ART

Uy — 39 pfaar o1 Mde w32
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1. TR Tebdl
2. IP1Y Thdll

3. P Vbl
4. TP Tebdl

Correct Answer :-

45) SY U & A A U 3R R RE My F13«R &

$1 g Udd asdl §, FE! aST § U
YTYT & AR} # 79 3, 79 &t fidY arh
3T & I 5 7RI #

SouTd 3T TS ST9RI |

$q SN A1 GOl HE FRIT SHORRT
oA 8 af 7RAT W, IS 3 U ART
HRT ¢ AR

Y- S Pl BT gd T T 82

1. 39 ST BT HeT YT S & e afere g s g

2. 3 BT &1 Jd UG R1ef &I Sera1 g1 6|

3. 39 DIl BT Hef HTd, SO HISTRT 3R MU GH B dgrar o 2|
4. Y HIadl BT Jof HTd MU TS 3R TH P! Ferdl 1 2|

Correct Answer :-

. 3T ST DT HA HTd, M HIEART 3R o TS ) Serar S g

46) 39 7T B O I U¢ iR TR R Ty F13ww €

P3 AR A 3 fp SRmEe SR Tadwar A faRly 8, frg ara #f 98 YW 81 SR & g7
Facardn 51 TEY ST, afetn gl @t Tac=a $t & gt 1 ISP W g+ & g g9 T e
g, g0 9l R J g e foheg a1e ot g9 d A ff 79 9o &1 399 89 3 g uIvT Wdhe
# BT €, ORI 3 Wezar Wt Fia &1 et ura & v fHafar §1 3= SR & 1o @
3T 3t A FAT LT, o 3 URT & 9 YA Hee TP |

Y- T TSP W IAd g 3T UTUT Y H Hd STAd € 2
1. TSP & fb-TR I B §H 3T UT0 Tebe | STad g |
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2. gD o oI T Il B §H U YT Hohe H STad 6 |
3. S & s § I B gH {0 U0 Yobe | el STefd &
4. JSH TR I DR Y 3T U1 Yobe H STad 3 |

Correct Answer :-

. USH & o9 T Id R gH 30 UT0T Tahe B STAd ¢ |

47) 39T $! O I UE 3R 7R R T yxA F13@R €

P35 AN A 2 o SR SR Tadwar § faRiy 8, frg aaa ¥ 98 YW 81 SR & g7
Tt o 8 ST, afees gl &) Tadsar $t g1 gl 8 1 9o W ga & e g9 @ wdd
g, g oY R [ "o w1 fareg are o) g9 d § off T Id €1 399 89 3uH 81 Uy Hahe
o 3Tad 8, gOR) @t Waar W Sd 7| faeneif ura & urdt futfar 81 3% sramas & 1o &1
3T 3t A HAT AT, P d URA & 9= YA Hedl TF |

UH-SU e TTeri=T &1 Sfd v e
1. AJHHT PT Hed

2. 3R HT g

3. 3FIRITRH

4. 3N

Correct Answer :-

48) Y TE P A A U¢ 3 - 3w ¢ gy #+13«R €

P35 AN A 3 f SR SR Tadwar A faly 8, fovg aaa o 98 YW 81 SR & g7
T 51 A1 ST, feep Rl &1 Wadrdl B Y& gl ¢ | ISP W Ia- & fo1¢ g9 a1 &Wax
g, o0 arff R [ "o w1 fareg are o) g9 o ® off Ta Id €1 399 89 3uH g1 Ty Hehe
# STerd €, g ot Weiarar Wt Fia €1 faendf wra & widh fmfar @1 52 srg=ma & ot @1
3 3t A HeAT LT, o 3 URT & 9= YA Heer TF |

UY- TSP UR §H by 3R Ta-T a1feu?
1. G€%h W g Heury W ol dlgU|
2. 8% IR §H il d¥W a1 aTfeu|

3. T8 IR §H WeRT HIRNT UR I@-1 e
4. 9% R gH TRIf TR® I@1 AT
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Correct Answer :-

. ISP R gH IR TRW a1 ATy

49) 39 T B O I 7S 3R TR R ey F13ww €

P35 AR A 3 f SRmEe SR Tadwar A faRly 8, forg araa o 98 YW 81 SR & gIRT
T {5 781 STell, Ifeen gl &1 Tadar B 3T gl 8 1 o W Ia & 1w g9 @l wad
g, % arff R A e it g are af g0 i # off Ta Jwd &1 399 79 3= € uTur Adhe
H BTad €, ORI 3 Wazar W Sia &1 e ura & urdt fHafar §1 3= SR & 1o @

3T 3t A FAT LT, o 3 URT & 9 YA Heat TP |

Y- URd & yTdt Fafar a9 82
1. URd & 3fclid & Fafar faamif 81
2. YR & Heft Fmfar faemeff €1
3. HRd & yrdt fafar e &1
4. YR & et v faeneif &1

Correct Answer :-

. YRd & Hrdt fafar faemdf 2|

50) 3 el P &9 T Ue 3R 1 feu T uwq #13«R &

P35 AN A 3 fop SR SR TadsdT § fariy 8, foveg arvaa o 98 YW 81 SR & gIRT
T o 81 ST, Sfews gl &) Tadar 3t e gl 8 1 9S% W ga & e g9 @ W
g, g0 oY R 1 germ a1 fareg are Ol g9 o ® ff 99 9d €1 399 89 SruH €1 Uiy Hhe
T 3Tad 8, gORl @t Wazar W Sd 71| faeneif ura & urd futfar 81 3% sra=mas & 1o &1

SR 3T & HIAT A1 Y, o 9 URA & A=) 9Yd gl T |

wy- faeaneff yrRa & o= Iyg HA A

1. Tl I & 4l SR YRA & T2 IYd s Ihd ] |

2. faemdf sr=nfiyd fimrat SR YRd & = 9Yd o9 Ihd g
3. faemef sra=nf¥yd fe=af sromTer URd & AR &9 I&d B
4, foemeft srpRRa Tt Sio-TeHR R & T=d 9Yd &9 Ihd g |

Correct Answer :-

. Tt SRR feaal sMTeR YRd & 9= 9gd 89 9hd ¢ |
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51) WM UH AqRTg R o g &
1. HTST-HTST

2. From

3. TfOrd

4, Db

Correct Answer :-

52) HTYT & o1 01 BT YT HILROT SI=TdT 307 THE! 3R TR & $cl & I T Pgd 82
1. Srcit

2. T HTOT

3. HTST

4, ISTHTYT

Correct Answer :-

53) AR AG- HId 9HY fHH I BT A 76:
1. HT¥ T4 fI=Rl 1 gRIgRi 1s 3|

2. BT UG UV B TRIGRT BIS <

3. Y19 T4 faaRi & TR 8rs < |

4. T U4 foaRl &1 gRIgRT 81 ¢

Correct Answer :-

. 419 T4 fqaR! Bl gRIgRI sis S|

54) «3{TS] T FT THTAR & |” T Y 9199 &
1. 31 & I GHER B |

2. 31T H1 1 GHER! B |

3. 3T T YHER B |

4, 3T T FTIARR & |

Correct Answer :-

. AP RTIARRE
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55) <37 T SfY ST 74T 1 BT Y[ 9199 @
1. TR U Sit 377U

2. WX O St Q|

3. WR Uar Sit 31T

4. T fOar Sit gy

Correct Answer :-

o TR fUarsht ey
56) «Ug q T IR &1 3T Y5 91 8:
1. U8 9 m=ll IR & |
2. U8 QU fIRA B
3. U8 AT TSI B
4. USI A T FRA B

Correct Answer :-

. TSI TSI

57) forT avgeli @1 TP WK YT IUA g1 AT 8, I FIT Hgd 82
1. 3e19 faura

2. AAPR

3. oI HId

4,39

Correct Answer :-

. 309 fquE
58) B¢ PIHFIAHE:

g & T A Syl A H gv=T AT
AP AT PART H B ORI -Ta1 |
S YTl § HATIP UG YT T&1
FHad® g ferga ® S BT 78T
1. A B<

2. WY 9«
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3. ®idd o<
4. NPT B<

Correct Answer :-

. MdP1B<

59) B+ BT -TH FAT8:

o 7 <fiar afera o1 wiets AfoR & |
I TP T I ™ TSR A Ul

1. AT &G

2. giRAfifdT &g

3. didd Ba

4, DT B4

Correct Answer :-

. JATBE

60) Sfer 3T ot BT 3k 3:
1. SfergH SR dR

2. Ffera SR areft

3. HAC AR Tt

4. AFTGH IR Iait

Correct Answer :-

. §feaH SRR

61) qTd 3N a1a BT 3 fora:
1. § 3R g4l

2. §g1 3R gl

3. S 3R g4l

4. 9 3R grar

Correct Answer :-

. T 3R ET
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62) AT & RIT U g TATST:
“ggd AT YTITE F= qrerr”

1. §g HTST HTeft

2. §g TSt

3. 9gY

4. ggYIfdg

Correct Answer :-

63) I & Y TP Weq TAIST:
“ﬁ:"WﬁRTE”

1. T

2. R

3. 3fer

4, TAH

Correct Answer :-

64) CANCELLED

‘DIRECTOR’®! &<} & &1 Fgd &2
1. feTrs

2. frdwre

3. FAdy®

4. fRE=®

Correct Answer :-

65) ¥ BT ATH g1
q19-ga1-ga R s, gi-gf @ garaal
IfeRT R & e, [ & Uy Bt go framafai

1. Al XY
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2. QA 3™
3. 8O
4, vfaa g

Correct Answer :-
. AT XY
66) HT I Dl foTaH T §U Xl & GRT:
1. T} 3R TG T UHTT STelT STl 2 |
2. IRBAT SR T BT YHTT STAT STl B
3. el 3R AT T THTG STl STl & |
4, QAT SR AT T UG STl STl & |

Correct Answer :-

« PHeUT R FHA BT GHTE STell STl 2|

67) Fafafea ifRaid AT ®:
TP I T JA1G H 98 daaR R AT
37 geatal & @ gH gl pert Al

e a3t g+l 98 ol et arelt I A

1. AT X

2. YT |

3. 1B ™

4, AR Y

Correct Answer :-

68) TRIT U&r U1 Hal A USRI gidl 22
1. §iaT

2. GSTR
3. 3t

4, WdelyR

Correct Answer :-
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69) tRdl URBT T USRI Hel A glare?
1. 3TN Y BIS T

2. AR
3. 3RS

4.33R

Correct Answer :-

70) Uceid H1 g1 AT, THTH Delt B A1 1 3rd: THH F1d) Bl foaR A foraq &1
3T forar ST =nfgu|

1. ade Qi
2. T et

3, ToHTHP el
4, VTG Q!

Correct Answer :-

Topic:- General English

1) Choose appropriate articles for the given sentence:

______reportwasfiledin ____ neighboring police station where the incident had occurred.
1. An, the

2. An, an

3. A an

4. A, the

Correct Answer :-

2) Choose appropriate articles for the given sentence:
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Shopping for clothes proved to be traumatic experience for executive who went
shopping abroad.

1. a, the
2. an, an
3.a,a

4. a, an

Correct Answer :-

e a,the

3) Choose appropriate articles for the given sentence:

In order to perform well, studying hour before exam is not advisable.

1. an, an
2. the, the
3.an,a

4. the, an

Correct Answer :-

4) Choose the appropriate preposition for the given sentence:

The flowers withered _____ the hot sun.
1. off

2. from

3.1in

4. under

Correct Answer :-

e under

5) Choose the appropriate preposition for the given sentence:

llliteracy is an obstacle progress.
1. for

2. 1In
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3. with

4. to

Correct Answer :-

6) Choose the appropriate prepositions for the given sentence:

This report contains an overview ____ the current economic situation prevailing ___ the country.
1. for, in

2. by, on

3. of, in

4. of, at

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

The government plans to introduce law that will provide free entry into all temples in
south.

1. a, the
2. an, an
3.3,a

4. an,a

Correct Answer :-

8) Choose the appropriate usage to fill in the blank:

lliveafewyards ___ the bus stop.
1. away

2. off

3. near

4, from

Correct Answer :-
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9) Choose the option that best interchanges the italicized word in its adjectival form.

The man is not having any courage.
1. The man is uncourageous.

2. The man is cowardly.

3. The man is not courageous.

4. The man is known to be cowardice

Correct Answer :-
¢ The man is not courageous.

10) Choose the correct form of verb for the given sentence:

We hope that the sunny weather ______ over the weekend.
1. lasts

2. should last

3. will lasting

4. lasted

Correct Answer :-

e |asts

11) Choose the correct form of verb for the given sentence:

Iwantedto _____ the actor, but my car broke down.
1. be meeting

2. meeting

3. meet

4. have met

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:
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Weallwanta_____ just government.
1. thoroughly

2. simply

3. perfectly

4. fully

Correct Answer :-
o perfectly

13) Choose the correct form of adverb for the given sentence:

| ate my lunch

1. goodly

2. ina hurried

3. with reverence

4. hurriedly

Correct Answer :-
* hurriedly

14) Choose the correct form of adverb for the given sentence:

_____,itdoesn't matter.
1. Honestly
2. Truthfully
3. Gratefully

4. Abundantly

Correct Answer :-

* Honestly

15) Choose the correct form of adjective for the given sentence:

Ambition does not always conduce to happiness.
1. intimate

2. ultimate


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3. big
4. great

Correct Answer :-

e ultimate

16) Choose the correct form of adjective for the given sentence:

Never be anywhere near Manjeet when she loses her temper; she can be very
1. brave

2. emotional

3. assertive

4. aggressive

Correct Answer :-
e aggressive

17) Choose the correct form of expression to complete the sentence:

The building is in a dilapidated _____
1. situation

2. status

3. condition

4. position

Correct Answer :-

* condition

18) Choose the correct form of expression to complete the sentence:

This is a matter of no
1. use

2. value

3. importance

4. interest

Correct Answer :-
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e importance

19) Choose the correct form of modal auxiliary verb for the given sentence:

Jenny ____ able to leave the hospital within six hours after he fell ill seriously.
1. was

2. can

3.is

4, is being

Correct Answer :-

20) Choose the correct form of tense for the given sentence:

I always for a walk every day.
1. went

2. am going

3. goes

4. go

Correct Answer :-

21) Choose the correct form of tense for the given sentence:

The child _____ since morning.
1. had cried

2. have been crying

3. has been crying

4, had been crying

Correct Answer :-

e has been crying

22) Choose the correct form of tense for the given sentence:
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He ___ as he works because he is happy.
1. was smiling

2. smiles

3. has smiled

4. is smiling

Correct Answer :-

¢ smiles

23) Choose the correct form of tense for the given sentence:

This year we are visiting relatives, but next year we ___ our holidays at home.
1. had spent

2. will be spending

3. will spent

4. have spent

Correct Answer :-

* will be spending

24) Choose the most suitable determiner for the given sentence:

There's _____ ice cream in the fridge.
1.no

2. most

3. any

4, few

Correct Answer :-

25) Choose the most suitable determiner for the given sentence:

color will suit you; you have such a good complexion!
1. Another

2. Neither
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3. Either

4. Some

Correct Answer :-

e Either

26) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the United Arab
Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July, commuters will be able to
summon the world’s first passenger drone, the EHang 184, to transport them to their desired destination without
having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a year
ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight propellers,
the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds and a small
suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation officials say it will
typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone app.
When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed destinations
on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all flights are monitored
remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also programmed to
conduct complex calculations to ensure its route won’t collide with that of another drone. While having no control
over the remotely piloted vehicle may appear scary, the manufacturer, China-based EHang, says, “It is the safest,
smartest and eco-friendly low altitude autonomous aerial vehicle.” The only drawback? The EHang 184 has a
battery life of 30 minutes and a flight range of just 31 miles, which means that those with longer commutes are out
of luck. Also unknown, is the cost of each ride.

Question: Which of the following is FALSE about EHang 184?

1. It has a battery life of more than half an hour

2. It was first showcased in Consumer Electronics Show in Las Vegas
3. It weighs 440 pounds

4. It can fly at heights of up to 11,500 feet

Correct Answer :-

It has a battery life of more than half an hour

27) Read the passage carefully and answer the question given below:
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While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: Which one of the following options is the antonym of the underlined word ‘congested’?
1. Unblocked

2. Massed

3. Crowded

4. Jam packed

Correct Answer :-

e Unblocked

28) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
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and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: Who is most eligible to ride EHang 184?

1. Two people who are less than 220 pounds

2. A single passenger a luggage which combined weighs 220 pounds
3. There is no mention of this information

4. One person who is less than 220 pounds with a small suitcase

Correct Answer :-

* One person who is less than 220 pounds with a small suitcase

29) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.
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In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: The best title for the passage could be:
1. EHang 184: An Ariel Taxi

2. The futuristic city-state of Dubai

3. Dubai’s transportation system

4. A flying taxi at your doorstep

Correct Answer :-

« EHang 184: An Ariel Taxi

30) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make
an emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another
drone. While having no control over the remotely piloted vehicle may appear scary, the manufacturer,
China-based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial
vehicle.” The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of
just 31 miles, which means that those with longer commutes are out of luck. Also unknown, is the cost
of each ride
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Question: The step-by-best procedure to ride EHang 184:
I. Sit back and enjoy the ride
I1. Select one of the pre-programmed destinations on the touch screen

I11. Use the company’s smartphone app and ask for the flying taxi to pick them up from designated
zones

IV. Strap oneself into the race-car-style seat
1. LI IL IV

2. 1L IV, IL T

3.0LIL IV, I

4. 1L L IV, 10

Correct Answer :-

« LIV, ILI

Topic:- General Knowledge

1) I am seventh in the queue from either end. How many people are there in

the queue?/ A {5t Mt BR T FaR & ATAd WM W § | FaR | $d fra- safaad 82
1.13
2. 11
3.10

4.14

Correct Answer :-

2) If the day before yesterday was Friday, what day will two days after
tomorrow be?/af¢ dd ¢ & | UgA HT &1 I[HAR YT, <t 31 914 Ha & ¢l A F a1

DI a1 faT g2
1. Sunday/Tﬁ?ﬂ?
2. Saturday/JHaR

3. Wednesday/ d4dRR
4. Friday/[hdR

Correct Answer :-

» Wednesday/ d4dR
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12

1. 17

21

2. 17

13
3. 17
18
4. 17

Correct Answer :-

4) In the following question, select the related letter/word/number from the

%ggn alternatives./ fAAfRad v ¥ feu e fawel A I =T sieR/re/<E &
|

UNCLE : AUNT :: FATHER:?/ T4 ; ©T=it :; fUeT:?
1. Daughter/gﬁﬁ
2. Affection/ &g

3. Mother/ ar

4. Son/ 4

Correct Answer :-
« Mother/ T

5) In the following question, select the related letter/word/number from the

%g;n alternatives./ fAAfifad yw § fou e foeedl A A Tl &R/ e &1
|

42 : 20 :: 64:?
1. 33
2.31
3.32

4.34
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Correct Answer :-

6) In the given diagram, parallelogram represents women, triangle
represents the sub-inspectors of police and circle represents the graduates.
Which numbered area represents women graduate sub-inspectors of
police?/ faq 1T 3@ ®, WHMHiaR gy« Afgansi &1 guifar 8, Ay« gfey & 3u fAdteres o1
mgamqaﬁﬁaﬁaﬁm%l P HHifEd & giera ¥ afgar wiae Iuies i
AT g?

1.13
2.3
3.5

4.8

Correct Answer :-
e« 3

7) N is more intelligent than M. M is not as intelligent as Y. X is more
intelligent than V but not as good as N. who is the most intelligent of all?/ N,

M $ ga-T § 3R gfSum g1 M, Y A 3if¥e gigar 781 81 X, V &t ga- d oiftre gigam
TR N T 331 781 81 9t o o g pi 82

1.Y or N/Y T N
2. M
3.N

4. X

Correct Answer :-

« Yor N/YZTN

8) Which of the following is the smallest fraction? /=1 & @ 9e@ SId U= &9
He?

g 7 11 14
25'23'23'53
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14

3. 33
11
4,23

Correct Answer :-

14
o« 53

9) Which of the following interchanges of numbers would make the given
equation correct? /A= & A FT-H TEA13 B SrgAT-IGed B W e war eI
gl grm?

8x20+3+9-5=38
1.3,9
2.3, 8
3.3,5
4.8, 9

Correct Answer :-

10) Which one will replace the question mark (?)?/f4= & d @991 = g (?)
&1 yfaifud s¥m?

1.1342
2.1191
3.2197

4. 1495

Correct Answer :-

e 2197
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11) Players, father and mother can be represented by/ f&arsl, fUar i AT &)

=TT ST ghar g |

©o
@D

Correct Answer :-

2.
3.

12) (2.697 — 0.498)2 + (2.697 + 0.498)2
The value of 2.697 x 2.697 + 0.498 x 0498 jg:/
(2.697 — 0.498)2 + (2.697 + 0.498)2
2.697 x 2.697 + 0498 x 0.498 I U FId B

1. 3.195
2.4
3.2

4. 2.199

Correct Answer :-
o 2

13) Solve the alphanumeric series given below:/ =12 & 75 seRiwa 9vft & o
ﬁ:

Z2, X5, U10, ?,L26

1. P17

2. P15

3.Q17
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4. Q15

Correct Answer :-

14) If ‘STAGE' is coded as ‘TUBHF’, ‘STRANGER’ will be coded as ' ./
gfe *STAGE’ HT %< 8N 'TUBHF’, ‘STRANGER’ &1 %¢ gI Il "

1. TUBOFSHS
2. TUSBOHFS
3. TUBSOHFS

4. TUSOBHFS

Correct Answer :-

« TUSBOHFS

15) If ‘black’ is called ‘red’, ‘red’ is called ‘white’, ‘white’ is called ‘brown’,
‘brown’ is called ‘yellow’, ‘yellow’ is called ‘blue’ and ‘blue’ is called ‘green’,
then what is the colour of blood?/ gfe ‘erer Hﬁﬁ%?‘?ﬂﬁ’, ‘dret’ ﬁﬁﬁﬁ%
HEd ¢ B0, A G BT T HTEIAT182

1. white/ e
2. green/ &xl
3. blue/ At

4, red/ dId

Correct Answer :-

. white/ ¢

16) If 20% of A = 50% of B, then what percent of A is B?/df¢ A &T 20%= B
PT 50% ¢, dl A P fra1 ufa=a B 82

1. 25%
2.40%
3. 30%

4. 15%

Correct Answer :-

* 40%
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17) Gulbadan Begum had written Humayunama. She was Humayun’s - /

TAde T A §HARATH Ra® 1 foram 411 98 g &1 &1 A2
1. Sister/ dg-

2. Aunt/ilﬁﬁ

3. Mother/ Hi

4. Wife/ Tat

Correct Answer :-

» Sister/ dg1

18) Ratio of Sujeet’s present age to Sameer’s present age is 4 : 3. Sujeet will
be 26 years old after 6 years. Then the present age of Sameer is:/'ﬁTrﬂHGﬁT

TR B} T 3T BT SMJUTT HU: 4 : 3 81 6 T P 1 Foild 26 TH T & S, dF THR
P gdu 3y fhat 32

1. 18 years/18 ¥
2. 24 years/24 T§
3.15 years/15 ¥

4. 21 years /21 CL

Correct Answer :-

« 15 years/15 CL

19) A sum of money at compound interest doubles itself in 15 years. It will
become eight times of itself in how many years at the same rate of interest

per annum? /T Y-RTIRI Thgfc SITS B1 g3 F 15 T80T W SR 81 o<l 8 | g IR fbee aut
T St arftfe sare &) | 8 T g1 e

1. 60 years/60 T4
2.54 years/54fﬂ?f
3. 48 years/48 G

4. 45 years/45313f

Correct Answer :-
e 45 years/45613f

20) A started a business with Rs.45,000 and B joined afterward with
Rs.30,000. If the profit at the end of of one year was divided in the ratio 2 :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

1 respectively, then B would have joined A for business after how many
month?/A 9 % MR &1 IR=3ATd H Rs.45,000 B! Uil %1 9t 9UT $© 99T 916 B
Rs.30,000 fa=1 %% 39 AR | TS g1 771 i Th a9 & 3fd A I8 2:1 & uTd d a1y
T g3 g1, @ B fhat 9wy 91 IR o <nfdra game

1. 3 months/3 HIg
2. 2 months/2 HIg
3.4 months/4 Hlg

4.1 month/1 HIg

Correct Answer :-

« 3 months/3 HIg

21) The cost price of 18 articles is equal to the selling price of 15 articles.
The gain percent is: /3¢ 18 TGN T AT Gou, 15 a3 F f3.9 . F IR B, ot ufawra
ATH T B

1. 20%
2.25%
3.18 %

4. 15%

Correct Answer :-

« 20%

22) The Betwa river flows through the states of - /9dar <t fo= Il & 4 9

el 82

1. Only Madhya Pradesh/ 3dd A&l Ul

2. Madhya Pradesh and Uttar Pradesh/ T TSR 3R ITR U
3. Madhya Pradesh and Chhattisgarh/ T e @T@?ﬂﬂ?ﬁ

4. Madhya Pradesh and Rajasthan/ A& UG 3R ISR

Correct Answer :-
. Madhya Pradesh and Uttar Pradesh/ A& UGRT 3R IR UHl

23) The LCM of two numbers is 1820 and their HCF is 26. If one number is
130 then the other number is: /3 YBT3 HT @.H. 1820 TUTH.H. 26 &| Tfe T &
130 B, o gus IS 91 Y|

1. 364
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2.1690
3.70

4.1264

Correct Answer :-

- 364

24) In what time will the simple interest be 2/5 of the principal at 8 percent
per annum?/fFaa THa & 8% q1ffe =TT B &3 A HTURT TS, GAYF BT 2/5 T2

1. 7 years/7 Gl
2. 6 years/6 G
3.5 years/5 ¥

4. 8 years/8 ¥

Correct Answer :-

« 5years/5 ¥

25) In a certain code RAIN is written as TCKP. How is CLOUD written in that

code?/ afe fHdt fAfda we ®, RAIN #) feRad & TCKP. 39 % &, CLOUD &) ¥ foran
SITE?

1. ENRWF
2. FNQWE
3. EMQWF
4. ENQWF

Correct Answer :-

26) Where is the Alkaloid Factory situated?/ WWW@H%‘?
1. Dewas/a?ﬂﬂ

2. Neemuch/ =g

3. Hoshangabad/ﬁw

4. Itarsi/ SCRE!

Correct Answer :-

« Neemuch/ ¥ g
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27) A and B can do a piece of work in 10 days, B and C in 15 days and C and
A in 20 days, then C alone can do the same work in how many days? /A didT B

TP ST &I 10 feAi ®, B 3R € 15 A A a1 € 3R A 20 fe=i § &% "o d 8,1 C 3513y
T ! fraq i § @ sam?

1. 120 days/120 fea
2. 60 days /60 f&A
3. 30 days/30 f&A

4. 80 days /80 faa

Correct Answer :-

« 120 days/120 f&A

28) When was the Satpura National Park established?/ Wﬂ@ﬂmﬁ
R gaiT YT?

1.1979
2.1983
3.1985

4. 1981

Correct Answer :-
« 1981

29) When was the Direct Action Campaign launched by the Muslim League?/

IETs AT gRT Y& HIRATS AU Hd IRE [5a1 71 Y12
1. 1946
2. 1944
3.1947

4. 1945

Correct Answer :-

30) When was the World Bank created?/ ﬁsgaﬁammwm?
1. 1942

2.1943
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3.1944

4. 1945

Correct Answer :-

« 1944

31) What is the capital of Jordan?/ SIS B IS T 82
1. Amman/ SHH

2. Baku/ did

3. Accra/ 3{ehl

4, Manama/ H4M™I

Correct Answer :-
« Amman/ HH

32) The Khajuraho temples were built entirely of sandstones, which were

brought from the present - / mﬁﬂmwﬁﬁwwmﬁaﬁaﬂwﬁmw
YT, S IdHHE & T T I YT

1. Jhansi/ ST
2. Panna/ 9l

3. Satna/ gd-1

4. Jabalpur/ SIS¢e4R

Correct Answer :-

« Panna/ Udl

33) Two persons enter into a railway compartment in which 6 seats are
vacant. In how many different ways can they sit?/ﬁﬂﬁ'ﬁq@w*%@ﬁw
2, ford 6 ie @relt 8 I5a1sd 3 fva M- TR A S5 I@d 22

1.6

2.12
3.30
4. 36

Correct Answer :-

« 30
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34) The traditional folk-songs of Sanjha is sung by - / HTglT ¥ URUR® Fib-1fd
T gRT TITE od 82

1. Married Women/ RIT¢I[a1 Afgasil gRT

2. Brides to be/ g1 aTdl aY3fi gRI

3. Young Girls/ Q,ETFI@?W aR[

4. Young Girls and Boys/ gaT A&fdal 3R A8®H! gRI
Correct Answer :-

« Young GirIs/gaTﬂ—s”WQ’RT

35) When did the Madhya Pradesh Government constitute the Madhya
Pradesh Agriculture Cost and Marketing Commission?/ eI YR TXHR A HeA
R Y ARTd 3R fAYv T &1 o+ o foar ur?

1. 2016
2.2017
3.2014

4. 2015

Correct Answer :-

36) Narain Sridhar Bendre was a renowned — /AR sfer 3% ufrg O
1. Painter/ﬁtﬁlw

2. Actor/ =T

3. Playwright/ AIc® R

4. Author/@lw

Correct Answer :-

« Painter/ &R

37) The average weight of 15 men in a boat is increased by 1.6 kg, when one
of the men, whose weights 42 kg is replaced by a new man. Find the weight
of the new man (in kg)./15 T1fd®! &7 3T 9o 1.6 U1, Ig w18, 59 42 fFm.

oI 9T U ATfaP & I¢al Teb 4T ATfa e 3T STl 8, df 98 A1fas &1 aw= (.1, #) grd + |

1. 67
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2. 66
3.65

4. 43

Correct Answer :-

38) How many forest territorial circles has Madhya Pradesh been divided

into?/ fat a1 &efia dea ® e wo=r 3t fauriora fvar mar 82
1.15
2.16
3.14

4.13

Correct Answer :-

39) How many Mahajanapadas do the Buddhist and Jain literature present a
list of during the Mahajanapada Period of 600 BC - 325 BC?/ 600 i‘l -325
3.9, & HETOMUG ®Td & SR al 3R o e ¥ fhaq wereug 3?2

1.12
2. 16
3.14

4.18

Correct Answer :-

40) Sum of two numbers is 40 and their product is 375. What will be the sum
of their reciprocals? /gl G&IT3M HT AT 40 YT SHT [UHEET 375 B, Al 3% HapHl BT
YT fha=T BIm?

8
1. 75
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4, 40

Correct Answer :-

41) For which of the following fairs does the group of devotees from all over
the world called ‘Jamaat’ come to attend?/ FgfifEa # 4 F19- A A & 'SHE"
TP Ul BT g fayuR & 3mar 82

1. Fair of Barman/WWﬁFﬂ

2. Fair of Mahamrityunjay/ BT ord &1 Ball
3. Aalami Tableegi Ijtima/ TAHT A& FiodHT
4. Simhastha/ﬁi%W

Correct Answer :-

« Aalami Tableegi Ijtima/ 3T deeiit 3fodHT

42) Which of the following dance performance is dedicated to the deity

Ranubai and Dhaniyer Suryadev?/ fFafaf@a & ¥ #19-91 7o wexiq ¢4t Iqars iR
o TRR e ot wuffa 22

1. Badhai/ 9413
2. Baredi/ 9dl
3. Gangaur/TrUP'?R’
4. Matki/ Heobt

Correct Answer :-

« Gangaur/ TTURIR

43) Which of the following districts covers the area of the former princely

State of Jaora, Sailana and Piploda?/ fFafaf@a & Q H1- a1 forar siy, e ik
frueiter & gd fRamdl & &= B wfira Bar a2

1. Guna/ T
2. Ratlam/ ¥dd™H
3. Sidhi/ e
4. Raisen/QTEI@q
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Correct Answer :-

« Ratlam/ IddH

44) Justice Dipak Misra has been appointed as the Chief Justice of

India./ AN Aus MBI YRGS g1 amndier & v # e frar man 3|
1.46™ / 469
2.44t / 4479
3.45t /4549
4.439/434d

Correct Answer :-

. 45th /454

45) A, B and C can complete a piece of work in 12, 24 and 36 days
respectively. A and B will together complete the same work in how many

days? / A, B 94T C {5l T &) HHR:12, 24 TUT1 36 faf A B3 Ad g, A 3R B g1
e 39 ™ 9 faq a1 & g S92

1. 4 days /4 f&q
2.5 days / 5 f&A
3.6 days / 6 fad
4.8days/8ﬁ_—f

Correct Answer :-

. 8days/8fad

46) Shankar Dayal Sharma was the President of India?/ Y®< gqrd XMAT
HRA & Tyufa |

1. Tenth/ g4d

2. Eleventh/ §R8d

3. Eighth/ 3fTad

4. Ninth/ 9d

Correct Answer :-

« Ninth/ /9
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47) Which part of the Central Highlands does the Rewa-Panna Plateau lie

in?/ aT- U= TSR AwEd| UgTS! SATHT & BiF- § @A A fRa g2
1. South-western/ GfaiuT- GigH!

2. North-western/ ITR-TfgHt

3. South-eastern/ EFF&IUTUﬁ

4. North-eastern/ Gfﬂ-q\?ﬁ

Correct Answer :-

* North-eastern/ Bﬂ?-q\fff

48) Which part of Madhya Pradesh is associated with the Mahajanapada of

Avanti?/ TSI YR &1 HI- AT &F 3rddl S HETO-US A TST §3HT UT?
1. Malwa/ATddl

2. None of these/ stlﬁ@raﬁ's‘:lﬁ
3. Baghelkhand/ SUeRaUs

4. Bundelkhand/ §¢a@s

Correct Answer :-

« Malwa/HIddl

49) If two times of A is equal to three times of B and also equal to four times

of C, then A:B:C is:/df¢ A ST, B & fai[A 9 C & IR T & TR §, l A:B:C &1

SUTd T Be |
1.6:4:3
22.2:3:4
3.3:4:2
4.4:6:3
Correct Answer :-
e« 6:4:3

50) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ!ﬂ: :ﬂ%ﬁquﬁﬁ$ﬂ={ MR TP
91¢ 9 ey far 1T § 1 3mus) AT T =) @) I AT € Ha 8 3 gd3a g | e
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wofta gia 81 | 9t frsput &) ufew fir aa wifore % faw e et & @ wi-ar e feg e
YA BT BN $U A SFEV Rl 8, TTe Gagd a4 o W gl

Statements: /P Y:

All bags are bottles./ it aﬁ, W?I

All forests are bottles./ 9 Sd, Sida &1

Conclusion:/ ﬁ'ﬁﬂf:

I. Some bags are forests./ W‘aﬁ, \_ri'ﬂ?r%'l

II. No forest is bag./ @13 Sid, AT T8I 2|

1. If neither conclusion I nor II follows/ af = fAwHe I 781 11 3FJERUI Fxall §
2. If only conclusion I follows/ Ife Haa Ay 1 S@TUTW%

3. If only conclusion II foIIows/?T%WﬁEFEfII &IT;INTUTW%

4., If either conclusion I or II foIIows/qﬁﬂTFﬁﬁf&h‘EfI qr 11 WW%

Correct Answer :-
. If either conclusion I or II follows/ af¢ a1 dl fAsews I AT 11 3ERUI HRT 8

51) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬂ: ﬁﬁqwmﬁwmﬁ 3R IqH
91¢ 0 fwd far e § 1 3mus! AT T =) & I AT € Ha 8 3 Tdya g | e
wofta gia 8 | 9t et ) ufew fibr o wifom % faw e freeut § @ w=-ar fAeed few me
FYA BT AHUINT $U | SRV BT 2, A8 Fd7Td a2 $o 8

Statements: /P Y:

All fruits are lions./ 94 &9, W FI

All lions are foxes./ 94 2R, FHfSTT § |

Some foxes are elephants./ WFﬁ'ﬂ'{%‘q’f, BTiﬁ?I
Conclusions:/ﬁwﬁf:

I. All fruits are foxes./ Hﬂ-ﬁw, Fﬁ'ﬂ'%‘ﬁ%l

I1. Some fruits are elephants./$3 %d, g4l &

1. Either Conclusion I or II foIIows/?IlTFﬁﬁTEh'BfI gqr 11 &@TUTW%
2. Neither Conclusion I nor II foIIowsF[ﬁEh‘ﬁI -‘-[3}[ II WW%
3. Only Conclusion II foIIows/mﬁEb"ﬁfII &WW%

4. Only Conclusion I follows/dhad FT5HY I S{ﬂﬂmm%
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Correct Answer :-
e Only Conclusion I foIIows/aa_CI?[ﬁEb"EfI &WW%

52) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬂ: :ﬁﬁﬁquﬁﬁﬂmﬂ 3R ITH
91¢ 9 ey fau e § 1 3mus) AT 1T Hy=) @) I U=AT € Ha 8 3 gdya g | e
Udid gid g1 9+t et @1 ufeu fibr au Fifeme f& fau v faseul & F Hi9-a1 fasey faw e
HYI BT IHUN $U I ST HIAT 8, T8 TI7d 9 5o W 7|

Statements:/ ®Y-:

No book is star./ &3 fhdrd, aRT T8 2|

Some stars are men./ Wﬂﬁ, GIETﬁ%I

Conclusions:/ ﬁWEf:

I. Some men are books./ $ 3iicHt, fFraE g1

II. No man is book./ IS 3GHI, forare FE 81

III. All men are stars./ Tt &ITE.'Tﬁ, ?Iﬁ?l

1. Only I follows/ Hadl I 3IR0T Hl &

2. Only either I or II follows/ ddd aTdl I AT 11 &WW%

3. Only either II or III follows/ %dd AT al IT IT 111 3HR0T Hall &

4. None follows/TS SRUI el Bl &

Correct Answer :-
« Only either I or II follows/ %ad ATl I AT 1T FJAR0T Hal §

53) In which year did the British annex the state of Nagpur which also
included south-eastern Madhya Pradesh? /{1 adf # fafe=r = InTqR w50 @1 3=
e o fora, forad gfgror-gdf e we=r oft =nfdre ur?

1. 1853
2. 1854
3.1851
4, 1852

Correct Answer :-

« 1853
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54) In which district is the Fair of Ramlila held in the months of January-

February?/ mﬁlﬁﬁﬁqﬂﬂ-ﬂﬂﬂﬁ%ﬂéﬁﬁmﬂWWmﬁme%?
1. Indore/'a‘?ﬁT

2. Gwalior/ﬁTf%RN

3. Ratlam/ Xdd™H

4. Datia/ &faar

Correct Answer :-

« Gwalior/ WIferR

55) In which district is the Chachai Falls situated?/ IdT§ Sayurd fog fora # fRua

&2

1. Gwalior/ TaTfeiR

2. Chhindwara/f@‘c{?ﬂST
3. Satna/ gd-l

4. Rewa/ a1

Correct Answer :-

. Rewa/ a1

56) In which state is the Periyar National Park?/ Ww@uwﬂmmﬁé?

1. Maharashtra/ HERTY
2. Karnataka/aﬂfﬁ

3. Kerala/w
4. Tamil Nadu/ alﬁﬂ:llg

Correct Answer :-

. Kerala/ &%d@

57) 45 x (23)2+ (82 x (3)?x4%) =7
158
1. 3

256

2. 9
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3.28

4.24

Correct Answer :-

58) If a: b: ¢ = 3:4:7, then the ratio (a +b+c): ¢ is equal to:mﬁ a: b: ¢ =3:4:7 33[, G| (a +b+c) : ¢ ATd
Cadl

1.14 : 3

2.7 : 2

32.2:1

4,1:2

Correct Answer :-

59) A car goes 20 meters in a second. Find its speed in kmph./Th HRR Th THUs ¥ 20 Hex gadt
g 139! fontdt der # nifa Fma Sl

1. 36
2.20
3.18

4.72

Correct Answer :-

60) If an article is sold at 5% gain instead of 5% loss the man gains Rs.5 more. Find the cost price of

that article./dfe TP SfRT Th T B 5% BT & TG0 5% OTH W 9941 g, 91 39 5 T4 3AfRF
UTWd B1d §, At g% BT a1Td Hed [T B |

1. Rs.105
2. Rs.100
3. Rs.50

4. Rs.110

Correct Answer :-

¢ Rs.50
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61) A mixture of 30 litres contains milk and water in the ratio of 7 : 3. How much water should be
added to it so that the ratio of milk and water becomes 3 : 72/30 WeX & TD FAHOT ﬁg‘ﬂ 3R Tt
BT ATUTT 7 : 3 81 Y 3R U BT 3UTE 3 : 7 99 & fore 5w fran ureht framen wime?

1. 49 litres/49 T
2. 40 litres/40 TieX
3. 63 litres/63 (_'HEQ

4, 56 litres/56 3’“3?

Correct Answer :-

e 40 litres/40 5’“3?

62) A train is moving with the speed of 180 km/hr. Its speed in meters per second is:/TH i?nn?ﬁ 180

fedtder ot nfa @ 9 & 71 Su! fa A, # fpah gRft
1. 50

2.5

3.40

4. 30

Correct Answer :-

63) The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m,

then its area is:/Tdh amaﬂmﬁsﬁﬁﬁa's‘ﬁm WWW%IW%WWWZMW
g,al &% d /T 82

1. 1520 m?/1520 Hi2
2. 2480 m?/ 2480 Hi?
3. 2420 m2/ 2420 |2

4, 2520 m?/ 2520 H2

Correct Answer :-

e 2520 m?/ 2520 Hi2

64) CANCELLED

In which year did Tukoji Rao I die?/ g®ISiRTd UoW &t Yg f ad # g5 di?

1.1761
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2. None of these/ S0 I &5 ol
3.1753

4, 1757

Correct Answer :-

« 1753

65) Three of the following four are alike in certain way and so form a group.
Which is the one that does not belong to that group?/ fu T IR faweui # A di=
PR TeR ITUH IR TE I T g | P A #9139 g A A8 82

1. Yajur veda/ﬂ\_{ﬁ?{
2. Ayurveda/ 31T§a:3

3. Atharva veda / 3{Uddg
4. Rig veda/ B7dg

Correct Answer :-

« Ayurveda/ 3'”&571'

66) The most malleable metal is?/ I8 3iftd <l %ﬂﬂﬁﬂ?ﬁa’cﬂ%
1. Silver/ X51d

2. Gold/ ol

3. Iron/ &gl

4. Platinum/ wifeTHq

Correct Answer :-

.« Gold/ Wui

67) The point at which the solid, liquid and gaseous from of a substance co-
exist is called its? /98 a7 fag forg W ®15 yerd 314, ave a41 A9 i+ srawut & 35 a&ar
T au g B P d

1. Boiling point/ ®Y-i®
2. Freezing point/ fgdi®
3. Melting point/TTaHih
4, Triple point/ %ﬁr_g:

Correct Answer :-
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« Triple point/ Wﬁﬁ

68) City B is 3 meters north of City A. City C is 3 meters west of City B. City D
is 5 meters south of City C. City E is 7 meters east of City D. In which of the
following directions is City E, with reference to City B?/ Rg¥ B, R[gX A FIWHA
3R W BIERC, MG B & U A 3 Hiex W 31 WG D,MEX C F gl # 5 Mer R 1
TEYE, WG D $ Yd & 7 WX R 21 183 B & ATV, e E 59 fzm & g

1. East/ 0@
2. South-east/ Gf&01-qd
3. North-east/ B?Rqﬁ

4. South/ af&ror

Correct Answer :-
. South-east/ Gf&mor.gd

69) By what process is heat transmitted from the filament of an evacuated
electric bulb to the glass? & T&R fAUd 969 & 3igR T+ aTal dvg D ST @9
e AT &

1. Convection/ Tdg-
2. Radiation/ fafeor
3. Conduction/ dTdd

4. Heat cannot be transmitted through vacuum/ mﬁaﬁrﬁﬂmﬁaﬁaw

Correct Answer :-

. Radiation/ fafezur

70) Who coined the term ‘systematics’?/ fraa “RreAfes” s &1 ufdure fear
Yr?

1. Linnaeus/ fafag
2. Huxley/ E!T:REI@[

3. Lamarck/ NEIED
4. Darwin / SIfd=

Correct Answer :-

. Linnaeus/ a9
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71) A horse pulling a tonga moves forward due to the force exerted by?/ T®

ST aRt B 3T T § foras aim ot sgan § fv| 96 & SRUT

1. The horse on the ground with his feet/ ‘Eﬁéﬁaﬁ@ Rt TR Sl & T
2. The horse on the tonga/ aﬁaﬁ%ﬁaﬁwm

3. The ground on the horse’s feet/ &Rl GRT TS & TRI TR AT 7T 9

4. The tonga on the horse/ Tl GRT Y18 TR TN 14T A

Correct Answer :-

« The horse on the ground with his feet/ ‘Eﬂ%_?faﬁ“?f RN TR Sl I T

72) Conversion of excess amino acid into urea takes place in? /3% 3=

31wt 1 gfear & ufvad S8l il o:
1. Skin/ dl

2. Intestine/ 3fid

3. Kidney/ da&

4. Liver/ 9&d

Correct Answer :-

« Liver/ dod

73) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ fAdar: fAufefad fawea &
W 98 Usg gfa ol fAT 71T R1eg & 31&RT BT YT B 81 a1 o APl &-

CONSTITUTIONAL
1. TALENT

2. LOCATION

3. CONSULT

4, TUTION

Correct Answer :-
e TALENT

74) DIRECTIONS: Study the following figures and find out the number
opposite to 2./ fAa=1: f=1 anpfa @1 ue 3R 2 & faudia s &1 719 Be:
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1.4

2.5
3.1

4.6

Correct Answer :-

e 5

75) DIRECTIONS: Study the following information and answer the questions

given: /& & 75 R @ wFYd® ue iR i feT T vl & IR S

Seven people - A, B, C, D, E, F and G are sitting in a circle. Five of them are
facing the centre while two of them are facing opposite to the centre. C sits
third to the left of D and both are facing the centre. E is neither an
immediate neighbour of D nor of C. The one sitting exactly between D and F
is facing opposite to the centre. G sits third to the right of A and G is facing
the centre. One of B's neighbour is facing opposite to the centre. /ITd fed -A,

B, C, D, E, F 3R G T® g & IRI 3N 83 &1 3778 A U7, g 3t 3R g f5d gu & wafe
ﬂﬁﬁa‘rﬁaﬂﬁqﬂaﬁmaﬂeﬁ?g@ﬁr&@%lc D ¥ 91T & W VM W 372 3R 1
FE PR GATFAGURIE, AT D A8 C FTAFecan USRI 31 Ig TH W D 3R F & St
T W 931 8, 3BT W 5 o1 fAuid M T iR 81 G, A F T A TR R R I3T13 3R
G ¥ P 3R gT f5d gU 81 B &1 TP TSR, = ot faudia f=n &1 sk g fra gu g

Which of the following pair represents persons, facing opposite to the

centre?/f= ¥ & 34 A1 g $% & fAudia ok g@ fu gu safaaal &t welkia swarg?
1.E, F

2.AF

3. Cannot be determined/3Td Fg! [bdl ST

4.A E

Correct Answer :-

76) DIRECTIONS: Arrange the following in a logical order:/ fadar ﬁnﬁw
3rfyf v A srafRa w31

(i) Collector/ foramshi=r

(ii) Governor/ IsYyred
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(iii) Chief Secretary/ &I dfiua
(iv) President/ 3rsgufd

(v) Clerk/ &

1. (v), (i), (i), (ii), (iv)

2. (v), (i), (iii), (iv), (ii)

3. (v), (i), (iv), (iii), (i)

4. (i), (i), (iii), (iv), (v)

Correct Answer :-

« (v), (i), (iii), (i), (iv)

77) If you walk toward a plane mirror at a speed of 10 cm/s, at what speed

does your image approach you?/ dfe¢ 3y freft gwae gdur #1 e 109+ ufd Abs
P 7Ifa A SIS 32 a9 U1 ufafda fore i I 3muss ury Smam:

1. 20 cm/s/ 20 Y Jbs

2. Information inadequate/ Wx’ﬁ@%
3.5 cm/s/ 5 JHUfd Tbs

4.10 cm/s/ 10 JHYfd Ybs

Correct Answer :-

« 20 cm/s/ 20 IHYfd dbs

78) An antipyretic is a drug that?/ WE@M@'W Mﬁ?ﬁ%\?ﬁ-
1. Is used in viral attacks/ fauTU] & FepHUr & SR feram ST &

2. Raises body temperature/ YRR & dT9HM &1 FIit &

3. Lowers body temperature/ YRR & YA B HH Bl &

4. Kills infection/ HhHUI &) ARG &

Correct Answer :-
. Lowers body temperature/ YRR & dTUHM &I HH Bl &

79) The best material for casting foot-print marks in sand is?/mﬁﬁgﬁ.’ﬁt’
T & fore Ta Iugad uerd s A1 §:

1. Sulphur/ JehR
2. Molten lead/ fUga g3 os
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3. Plaster of paris/ WReX 3% URg
4. Paraffin wax/ TRGIH {19

Correct Answer :-

« Paraffin wax/ IR%IH AIH

80) Cotton fibre is obtained from the?/ma-—\jm@mmﬁ?:
1. Root/SS

2. Seed/ §I

3. Leaf/ ufar

4. Stem/ MG

Correct Answer :-

. Seed/ SIS

81) Pollination by birds is called?/ u&ﬁmaﬁwmﬁm%
1. Entomophily/ TciHiftat

2. Hydrophily/ gTgsifthelt

3. Arnithophily/ Sfffhett

4. Anemophily/ THHITha

Correct Answer :-

« Arnithophily/ 3ffiftreit

82) The polio virus enters the body through?/ Tiferat &1 fawmy TR & &9 wawr
AT S?

1. Contaminated food and water/ SgiSd S d o 9
2. Tick bites/ dIHe & Bl A

3. Saliva and secretion from the nose/ AR I TaTfad Eﬁdlﬂlﬂﬂmwﬁ

4. Mosquito bites/ AR & Bl I

Correct Answer :-

. Contaminated food and water/ Sgi¥d &d § HioH 9

83) Emeralds are made up of?/ U1 fq®T g1 a1 82
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1. Carbon/ CACE

2. Gold/ @

3. Beryllium/ SRferad
4. Silica/ fferept

Correct Answer :-

« Beryllium/ dRfeay

84) Which of the following fungi has been extensively used for genetical

studies?/ 9 & A B T Had It WallIS TS ST H SUANT f5ar wrar 82
1. Pink bread mold/ TTdl si€ Hieg

2. Bread mold/ §'S At

3. Mushroom/ HR=H

4. Green mold/ Bﬂﬁlﬁ

Correct Answer :-

« Pink bread mold/ ﬂ?ﬂﬁﬁa_s’ﬁlﬁ

85) Raghu and Babu are twins. Babu’s sister is Reema. Reema’s husband is
Rajan. Raghu’s mother is Lakshmi. Lakshmi husband is Rajesh. How is
Rajesh related to Rajan?/ Tg 3R TG Jsai g | TPl agA 471§ | M HTufiI== 3
| 7Y Pt af det § | Gt o1 ufar IO @ | ISR BT IO F T IR E ?

1. Son-in-law/<lHlq
2. Father-in-law/3d3}
3. Cousin/& o

4, Uncle/3{dd

Correct Answer :-

« Father-in-law/3d{x

86) Soniya travelled straight from a point A to B a distance of 12 km. She
turned right and travelled 8 km and reached point C. From that point she
took right turn and travelled 6 km and reached at point D. How far is she
away from the starting point?/ '\Eﬁﬁtﬂ, Wﬁ-‘gA I B d® 12 e ﬁ;ﬁ?ﬁﬂﬂ'ﬂ
Pl 81 98 ST g 8 fh. 1. gact g iR fag c aw ugadi 81 Sufag c AU gsav 6
.30t Tt 8 ok farg D 9% ugadl 81 98 oA URIY® farg A frait gt R 82

1. 14 km/ 14 f&#.
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2.12 km/ 12 T .
3.10 km/ 10 f& .
4.13 km/ 13 & .

Correct Answer :-

« 10 km/ 10 f&.#.

87) What is responsible for diphtheria and influenza?/ ra A o1 feuifear aur
STQUST & e Swer &

1. Bacteria/ Sidy]
2. Bacteria and virus respectively/ ShHRI: SitaTy] 9 fawo]
3. Virus and bacteria respectively/ m:%wwﬁa’rq

4. Water pollution/ S UgWUI

Correct Answer :-

. Bacteria and virus respectively/ ShHSI: SfIdT0] d faurg]
88) The largest bird is?/ a9 gs1yef &:

1. Elephant bird/ Taeft

2. Albatross/ Teaciy

3. Ostrich/ 3iRea

4, Cassowary/ CARIGE]]

Correct Answer :-

« Ostrich/ 3™

89) Which among the following causes Hydrophobia ultimately? &3 HRUI

FIsg mitear (few) Far gt 32
1. A bacteria /U a1y
2. A protozoa W@?ﬁﬁ\?ﬂ

3. A worm/Ud UHR &I hlsl(dIc)

4. A virus /U fauTQ]

Correct Answer :-

« A virus /U fquIy]
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90) The antibiotic penicillin is obtained from?/ ufosfae afaffers feaa ura &t
STl 872

1. A bacterium/ WGﬁ'qTq

2. Virus-infected cells/ faSTO] Sehod iR
3. Fungus/&dd

4. Synthetic drug/ Wﬁﬁgﬂ

Correct Answer :-

o Fungus/®ded

91) How many rectangles are formed in the figure given below?/ 12 & g

i ® fram emaa a1 32

[ ]

1.13
2.9
3.11

4.12

Correct Answer :-

92) A dentist’s mirror is a?/U® qaffbaT® HIF AT U ST IUGRT HT 8
1. Convex mirror/ R NEALYI

2. Cylindrical mirror/ CRRIEERELLI

3. Plane mirror/ gAadd gy

4. Concave mirror/ 3ddd guur

Correct Answer :-

« Concave mirror/ WE{&UT
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The nearest star (other than the sun), which is visible to the naked eye is?/

o & @ B a1 arT (Gd F sreman) T it § ot ovE @ femrs e @
1. Pole star/ {d dR_T

2. Proxima century/ Uifeaqdr It

3. Alpha century/ W@ﬂﬁ

4. Vega/ am

Correct Answer :-

« Alpha century/ W@ﬂﬂ

94) Palaeontology is the study of?/ Udcidlsi fhI®T 3reaa- gidr &
1. Bones/ 3Rl

2. Primates/ Q]?zﬂ'c’

3. Fossils/ SiaT=A

4. Birds/ geft

Correct Answer :-

« Fossils/ Silar=d

95) We get energy directly from?/ gH fraa W Foif urd #d 8-
1. Ocean/ HeNR

2. The sun/ 1131(

3. Space/ RIESIRE|

4. Atmosphere/ dIgHSA

Correct Answer :-

« The sun/ ﬁ*f

96) Stars appear to move from east to west because the?/ R Td ¥ i3\ &t 3R

1. Whole universe is moving from east to west/ USTWH@‘@W@HW%
2. Earth is rotating from west to east/ 2t Uf3™ § gd guiq et &

3. Earth is revolving around the sun/ Gt & & RI 3R 9adhR @il &

4. The universe is rotating from west to east/ WWW@@W%
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Correct Answer :-

« Earth is rotating from west to east/ qlﬁq@ﬂﬁﬂj‘a}ﬁﬁ?ﬂ%’

97) A medicinal substance given against the intake of poisons or to prevent a

disease from having an effect is known as an?/ ﬁﬁﬂﬂTWﬂﬁEWﬁ?ﬁlﬁﬁq
A & 918 I1 IS 91¢ B arel SR B A & fore far s §:

1. Antibody/ TEIETS]
2. Antibiotic/ Ufaaifa®

3. Antidote/ UdISIc
4. Antigen/ PIRSE

Correct Answer :-

. Antidote/ TdISle

98) The compound dissolved in water to give a solution of pH lower than

seven is?/ﬁaﬁﬁﬁqﬁuﬁﬁmﬁaﬁﬁaﬁaﬁw 73 FH pH a'ﬂT:
1. Common salt/ HIYRU FHDH

2. Vinegar/ Rt

3. Sugar/ THT

4. Ethanol/ EW

Correct Answer :-

« Vinegar/ R

99) If AABC is an isosceles triangle with £c=90° and AC = 5 cm then AB is: /uﬁ AABC T®H
qufgarg Aryw 8,5RI®T1 FI0T 2c=90° 3R AC = 5 Tt 8, O AB TG F9|

1.5 cm/ 5 9

2. 2.5 cm/2.5 3Ht
3. 10 cm/ 10 T

4, 5MEE cm/5WJE It
Correct Answer :-

] =~
« 5V2 5V e Anf
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The length of a rectangular hall is 5 m more than its breadth. The area of the hall is 750 m2. The
length of the hall is: /fFd SMAATER gTd B TWaTs ITP! AeTs | 5 HieR 34t 81 8Td &1 &7Bd 750
2 31 5T Ft aaTs 9Id B |

1.15 m/15 #I.
2.25 m/25 HI.
3.22.5 m/22.5 H.

4.30 m/30 |t

Correct Answer :-

« 30 m/30 H
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